
 

 

 

 

Norman, Roger 

of Breteuil, Earl 

of Hereford. 

Son of _________ 

_______________

_______________

_______________ 

Hereford was a  

_________________________ 

He succeeded his father in _____  

Father as _________________ 

_____________ in 1069. 

In 1075 he married the _______ 

__________________________

__________________________  

_________________________

_________________________ 

He was pardoned in 1069 

after he __________________ 

_________________________

_________________________ 

 

Norman, Ralph 

de Gael, Earl of 

East Anglia. 

 Son of an ______ 

_______________ 

Brought up in 

_______________ 

Succeeded his  

Saxon, Waltheof, 

Earl of 

Northumbria. 

Son of _________ 

_______________ 

Who died in _____ 

William made him  


